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Caiit «3amaun-penieHney - 3T0 pelieHre KOHTPOJIbHbBIX, PEllIeHHe 3a/ad 10 (HH3HKe, PEIIeHHE 3a1a4 110
MaTEMaTUuKe.
Tabauua ocHOBHBIX TH(PepeHUATOB

1. dx= % d(ax) = % d(ax+b),rne a u b — HEKOTOpbIE YHUCIIA.
B wacmuocmu, dx= %d(Zx) = % d2x+b)= % d(3x)= %d(3x + b) m Tak nmanee.
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2.x dx—md(x )—md(x +b),a¢ 1.

B wacmuocmu, xa’xz%a’(xz)=%a’(x2 +b)=ﬁa’(ax2 +b),

xzdxz%d(x3) =%d(x3 +b) =3Ld(ax3 +b), ax —d(lj = —d(l+bj,
a x2
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e dl—|=——d| = +b],
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B dWx)=2d(x+b).
Vx
dx

3. % dnx)=d(inx+b) =~ d(alnx+b).
X a

4. e*dx=d(e*)=d(e* +b), e dx="Ld(e*)=Ld(™ +b).
5. cosxdx=dsinx=d(sinx+b) .

_1 . _ 1 .
cosocxdx—ads1na.x—aﬁd([3s1no<.x+b).

6. sin xdx =—d cos x =—d(cos x + b) .

; -_1 —_1
sin ouxdx = m dcosax = b d(Bcosox+b).
dx

7. 3 =dtgx=d(tgx+ D).

cos” x

D _1ggar=-—Ld b

T T tgocx—oc—B (Btgox + b) .
cos” ax
8 dj = —detgx = —d(ctgx + b).

sin” x

D1 detgox=—Ld b

] ctgocx——oc—B (Betgox + b) .
sin” o
9. dx = d(arctgx) = —d (arcctgx).

1+ x2

_dx = Ld(arctg ox) = La’(Barctg ox) = —Ld(Barcctgoc X)
1+0c2x2 a aof aof :
10. dx = d(arcsin x) = —d (arccos x) .
1-x?
dx =L d(arcsina x) = d(Barcsina x) = =—L d(arccoso x) =—-L d(Barccosa x).
- azxz o of a aof

df () = d(af (1) = d(af (x)+1).



